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</data> 32 data Element Ef7|
- <data> 42 data Element € 7|
<numEf>4</numEef> 422 o &

<tmEf>2010-03-12</tmEf>

yyyy-mm-dd HE Y AIZFE}T

<wf>REES</wf>

MO Ef

<tmn>2</tmn>

HX2= B3

<tmx>12</tmx>

ANo2E Efa

<reliability>%&</reliability >

NEEC =

</data> 42 data Element Ef7|
- <data> 52! data Element € 7|
<numEf>5</numEf> 5= o &

<tmEf>2010-03-13</tmEf>

yyyy-mm-dd HE 2 AIZHERT

<wf>REES</wf>

MO Ef

<tmn>3</tmn>

HX2= B3

<tmx>14</tmx>

ANo2E Efa

<reliability>2 & </reliability >

M| Ef

</data> 52 data Element Ef7|
- <data> 62 data Element & 7|
<numEf>6</numEf> 6= O|&

<tmEf>2010-03-14</tmEf>

yyyy-mm-dd HE 2 A[ZHE}T

<wf>REES</wf>

MO Ef

<tmn>3</tmn>

HX2= B3

<tmx>14</tmx>

ANo2E Efa

<reliability>2 & </reliability >

M| EfO

</data> 62 data Element & 7|
- <data> 72 data Element € 7|
<numEf>7</numEf> 7% 0|2

<tmEf>2010-03-15</tmEf>

yyyy-mm-dd HE Y AIZHE}T

FZHo| EXML




xml I E xml A H H| O
<wf>388 </wf> MO E Ef
<tmn>5</tmn> EM2= EfO
<tmx>12</tmx> A2 Efa

<reliability>%&</reliability >

NEEC =

</data>

72 data Element & 7|

</location>

CHM™ - =HEE i location Element 7|

- <location>

Hd - SEEE o+ X9 798H 27

<province code="11C20000">C4™ - 58 YT </province>

XY3EQ M2 X|HHECH - SHEE)

<city code="11C20101">M&b</city>

o= TS0 T2 K| ABM L

- <data>

22 data Element & 7|

<numEf>2</numEf> 292 o8
<tmEf>2010-03-10</tmEf> yyyy-mm-dd H&Q A|ZHE
<wf>RERD H £= =</wf> MO E Ef

<tmn>=-2</tmn>

HX2= B3

<tmx>4</tmx>

ANo2E Efa

<reliability>=&</reliability >

NEEC =

</data>

22 data Element & 7|

- <data> 32! data Element € 7|
<numEf>3</numEf> 382 Ol&
<tmEf>2010-03-11</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REBX2</wf> SMOE Ef

<tmn>-4</tmn>

HX2= B3

<tmx>6</tmx>

ANo2E Efa

<reliability>=&</reliability >

NEEC =

</data>

32 data Element E7|

- <data> 42 data Element € 7|
<numEf>4</numEef> 49% O &
<tmEf>2010-03-12</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REAS</wf> SMOE Ef

<tmn>=-1</tmn>

HX2= B3

<tmx>10</tmx>

0Lz Eja

<reliability>%& </reliability>

MEB|E EfO

FZHo| EXML




xml I E xml M H| 1

</data> 42 data Element Ef7|
- <data> 52! data Element & 7|

<numEf>5</numEf> 5= o=

<tmEf>2010-03-13</tmEf> yyyy-mm-dd H& 2 A|ZtEf

<wf>REAS</wf> SMOE Ef

<tmn>2</tmn> M= EfO

<tmx>13</tmx> A2 Efa

<reliability>2 & </reliability >

M| Ef

</data> 52l data Element & 7|

- <data> 62 data Element & 7|
<numEf>6</numEf> 6= O|&
<tmEf>2010-03-14</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REBAS</wf> SMOE Ef

<tmn>4</tmn>

HX2= B3

<tmx>13</tmx>

ANo2E Efa

<reliability>2 & </reliability >

NEEC =

</data> 62 data Element Et7|

- <data> 72 data Element € 7|
<numEf>7</numEf> 7% 0|2
<tmEf>2010-03-15</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>S8</wf> MO E Ef1

<tmn>4</tmn>

HX2= B3

<tmx>12</tmx>

ANo2E Efa

<reliability>%&</reliability >

NEEC =

</data>

72 data Element & 7|

</location>

CHM™ - =HEE AL location Element 7|

- <location>

Hetse 83 X9 +96H 22

<province code="11F10000">%2}= T </province>

x| o3 = 0f 0F2 X| o (HEHE )

<city code="11F10201">H™F</city>

HEFHILY IME XNFFEH=F)

- <data>

22 data Element € 7|

<numEf>2</numEef>

20| S 0:”E

<tmEf>2010-03-10</tmEf>

yyyy-mm-dd HE Y AIZHE}T

FZHo| EXML




xml 3 E

xml| A

H| 3

<wf>FREHID H EF= =</wf>

MO Ef

<tmn>-3</tmn>

HX2= B3

<tmx>4</tmx>

ANio2E Efa

<reliability>2 & </reliability >

NEEC =

</data> 22l data Element EtH7|

- <data> 32! data Element € 7|
<numEf>3</numEf> 382 Ol&
<tmEf>2010-03-11</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REBX2</wf> SMOE Ef

<tmn>-3</tmn>

HX2= B3

<tmx>8</tmx>

ANo2E Efa

<reliability>2 & </reliability >

NEEC =

</data> 32 data Element &7|

- <data> 42 data Element € 7|
<numEf>4</numEf> 49% O &
<tmEf>2010-03-12</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REX2</wf> SMOE Ef
<tmn>3</tmn> EM2= EfO
<tmx>14</tmx> A2 Efa

<reliability>2 & </reliability >

M| Ef

</data> 42 data Element Ef7|
- <data> 52! data Element & 7|
<numEf>5</numEf> 5= o2

<tmEf>2010-03-13</tmEf>

yyyy-mm-dd HE 2 A[ZHE}T

<wf>REES</wf>

MO Ef

<tmn>5</tmn> M= EfO
<tmx>16</tmx> Ane2E Efa
<reliability>2 & </reliability > MZ|E Ej
</data> 52l data Element 7|
- <data> 62 data Element & 7|
<numEf>6</numEf> 6= O|&

<tmEf>2010-03-14</tmEf>

yyyy-mm-dd HE Y AIZHE}T

FZHo| EXML




xml AE xml M H| 11
<wf>PEUS</wf> SN0 Ef 1
<tmn>5</tmn> EM2= EfO
<tmx>15</tmx> A2 Efa

<reliability>2 & </reliability >

NEEC =

</data>

6% data Element Et7|

- <data> 72 data Element & 7|
<numEf>7</numEf> 742 o8
<tmEf>2010-03-15</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>52|1 Hl</wf> MO B
<tmn>6</tmn> EM2= EfO
<tmx>13</tmx> X025 Efa

<reliability>%&</reliability >

NEEC =

</data>

72 data Element & 7|

</location>

HEt2 £ M= location Element & 7|

- <location>

% - HetgE 3F XYY )

<province code="11F20000">&= - M2}=T </province>

XYACO| ME XYYFZ - HebdE)

<city code="11F20501">&F</city>

oA IE X oF@F)

- <data>

22 data Element € 7|

<numEf>2</numEf> 292 o8
<tmEf>2010-03-10</tmEf> yyyy-mm-dd H& Y A|ZHEf
<wf>RERD H £= =</wf> MO E Ef

<tmn>-2</tmn>

HX2= B3

<tmx>4</tmx>

ANo2E Efa

<reliability>2 & </reliability >

NEEC =

</data>

22 data Element & 7|

- <data> 32! data Element & 7|
<numEf>3</numEf> 382 Ol&
<tmEf>2010-03-11</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REX2</wf> SMOE Ef

<tmn>=-2</tmn>

HX2= B3

<tmx>9</tmx>

0Lz Eja

<reliability>2 & </reliability >

MEB|E EfO

FZHo| EXML




xml I E xml M H| 1

</data> 32 data Element Ef7|
- <data> 42 data Element € 7|

<numEf>4</numEef> 49 o2

<tmEf>2010-03-12</tmEf> yyyy-mm-dd H& 2 A|ZtEf

<wf>REX2</wf> SMOE Ef

<tmn>4</tmn> M= EfO

<tmx>15</tmx> A2 Efa

<reliability>2 & </reliability >

M| Ef

</data>

42 data Element Ef7|

- <data>

52! data Element & 7|

<numEf>5</numEf>

gz 0s

<tmEf>2010-03-13</tmEf>

yyyy-mm-dd HE 2 AIZHE}T

<wf>REES</wf>

MO Ef

<tmn>6</tmn> X ME Eja
<tmx>16</tmx> Xner Eja
<reliability>2 & </reliability > MZ|E Ej
</data> 52l data Element 7|
- <data> 62 data Element & 7|
<numEf>6</numEf> 6= O&

<tmEf>2010-03-14</tmEf>

yyyy-mm-dd HE Y AIZFE}T

<wf>REES</wf>

MO Ef

<tmn>6</tmn>

HX2= B3

<tmx>15</tmx>

ANo2E Efa

<reliability>2 & </reliability >

NEEC =

</data>

62 data Element & 7|

- <data>

72 data Element & 7|

<numEf>7</numEgf>

9= 0=

<tmEf>2010-03-15</tmEf>

yyyy-mm-dd HE 2 AIZHERT

<wf>&2|1 Hl</wf>

MO Ef

<tmn>7</tmn>

HX2= B3

<tmx>12</tmx>

0Lz Eja

<reliability>%& </reliability>

MEB|E EfO

FZHo| EXML




xml 3 E

xml| A

H| 3

</data>

72 data Element & 7|

</location>

« Mepe e &3 location Element EH7|

- <location>

<province code="11F20000">& = - M2t& T </province>

_7'5
g7 - Metd = 32 X9, 79| EH EY
of

FEO ME XYFEF - MatdE)

<city code="21F20801">= (X </city>

OE oA of M2 X|oHE E)

- <data>

22 data Element € 7|

<numEf>2</numEf> 292 o8
<tmEf>2010-03-10</tmEf> yyyy-mm-dd H& Y A|ZHEf
<wf>RERD H £= =</wf> MO E Ef

<tmn>-1</tmn>

HX2= B3

<tmx>4</tmx>

ANo2E Efa

<reliability>2 & </reliability >

NEEC =

</data>

22 data Element & 7|

- <data> 32l data Element € 7|
<numEf>3</numEf> 3= Ol&
<tmEf>2010-03-11</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REX2</wf> SMOE Ef

<tmn>=-1</tmn>

HX2= B3

<tmx>8</tmx>

ANo2E Efa

<reliability>2 & </reliability >

M| Ef

</data>

32 data Element E7|

- <data> 42 data Element € 7|
<numEf>4</numEf> 49 O &
<tmEf>2010-03-12</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REX2</wf> SMOE Ef
<tmn>4</tmn> M= EfO
<tmx>14</tmx> Ane2E Efa

<reliability>2 & </reliability >

M| EfO

</data>

42l data Element Ef7|

- <data>

52! data Element € 7|

<numEf>5</numEf>

SE= 0=

<tmEf>2010-03-13</tmEf>

yyyy-mm-dd HE Y AIZHE}T

FZHo| EXML




xml I E xml M H| 1
<wf>REAS</wf> SMOE Ef
<tmn>6</tmn> EM2= EfO
<tmx>15</tmx> A2 Efa
<reliability> 2 & </reliability> N =l
</data> 52l data Element 7|
- <data> 62 data Element & 7|
<numEf>6</numEf> 6= O|&
<tmEf>2010-03-14</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REBAS</wf> SMOE Ef

<tmn>6</tmn> AX2E Efa
<tmx>14</tmx> X025 Efa
<reliability>2 & </reliability > MEZ|E Ef3

</data> 62 data Element & 7|

- <data> 72 data Element & 7|
<nNuMEf>7</numEf> 728 02
<tmEf>2010-03-15</tmEf> yyyy-mm-dd HE Y A|ZtEf
<wf>&2|1 Hl</wf> MOl E EjO
<tmn>7</tmn> AX2E Efa
<tmx>11</tmx> A2 Efa

<reliability>%&</reliability >

M| Ef

</data>

72 data Element & 7|

</location>

oK

fZ= - MEte = 2 X |ocation Element & 7|

- <location>

s

oK

- HEtg e o X9, 798 H 27

<province code="11F20000">&= - M2t T </province>

2 [H4¥ |4

Rl Rcol 2 X YBEF - et )

<city code="11F20401">0==</city>

O £ A0 MHE X A H(0f)

- <data> 22 data Element & 7|
<numEf>2</numEf> 292 o8
<tmEf>2010-03-10</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REUD H F& =</wf> MO B
<tmn>0</tmn> EM2= EfO
<tmx>5</tmx> X025 Efa

<reliability>2 & </reliability >

MEB|E EfO

FZHo| EXML




xml I E xml M H| 1

</data> 22 data Element & 7|
- <data> 32l data Element € 7|

<numEf>3</numEf> 3= Ol&

<tmEf>2010-03-11</tmEf> yyyy-mm-dd H& 2 A|ZtEf

<wf>REX2</wf> SMOE Ef

<tmn>0</tmn> M= EfO

<tmx>9</tmx> A2 Efa

<reliability>2 & </reliability >

M| Ef

</data>

32 data Element Ef7|

- <data> 42 data Element &7|
<numEf>4</numEf> 49 O &
<tmEf>2010-03-12</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REX2</wf> SMOE Ef
<tmn>5</tmn> EM2= EfO
<tmx>14</tmx> Ane2E Efa

<reliability>2 & </reliability >

NEEC =

</data>

42 data Element Ef7|

- <data>

52! data Element € 7|

<numEf>5</numEf>

SE= 0ls

<tmEf>2010-03-13</tmEf>

yyyy-mm-dd HE Y AIZFE}T

<wf>REES</wf>

MO Ef

<tmn>8</tmn>

HX2= B3

<tmx>15</tmx>

ANo2E Efa

<reliability>2 & </reliability >

NEEC =

</data>

52 data Element &f7|

- <data> 62 data Element & 7|
<numEf>6</numEf> 6= O&
<tmEf>2010-03-14</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REAS</wf> SMOE Ef
<tmn>7</tmn> EM2= EfO
<tmx>14</tmx> X025 Efa

<reliability>2 & </reliability >

MEB|E EfO

FZHo| EXML




xml 3 E

xml| A

H| 3

</data> 62 data Element & 7|

- <data> 72 data Element & 7|
<numEf>7</numEf> 7% 0|2
<tmEf>2010-03-15</tmEf> yyyy-mm-dd HE Y A|ZHEf
<wf>&e|1 Hl</wf> WO B
<tmn>8</tmn> AX2E Efa
<tmx>12</tmx> A2 Efa

<reliability>%&</reliability>

M| Ef

</data>

72 data Element & 7|

</location>

2= . Ml e 04~ location Element EH7|

- <location>

07 - ZYRE OfF XIS 27

<province code="11H10000">0{3 - AAEZ</province>

ANYILo mE XAYEi+ - BEd8E)

<city code="11H10701">0i+</city>

HEFYIL IE XFHE)

- <data>

22 data Element & 7|

<numEf>2</numEf> 298 0|2
<tmEf>2010-03-10</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REUD H F& =</wf> MO B
<tmn>0</tmn> EM2= EfO
<tmx>5</tmx> A2 Efa

<reliability>=&</reliability >

M| Ef

</data>

22 data Element & 7|

- <data> 32! data Element & 7|
<numEf>3</numEf> 32 Ol &
<tmEf>2010-03-11</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REX2</wf> SMOE Ef

<tmn>-3</tmn>

HX2= B3

<tmx>7</tmx>

ANo2E Efa

<reliability>2 & </reliability >

M| EfO

</data>

3¢l data Element 7|

- <data>

42 data Element € 7|

<numEf>4</numEgf>

49= o=

<tmEf>2010-03-12</tmEf>

yyyy-mm-dd HE Y AIZHE}T

FZHo| EXML




xml 3 E

xml| A

H| 3

<wf>REES</wf>

MO Ef

<tmn>-1</tmn>

HX2= B3

<tmx>13</tmx> A2 Efa
<reliability>2 & </reliability > ME|E EjO

</data> 42 data Element EH7|

- <data> 52! data Element € 7|
<numEf>5</numEf> 5= o2
<tmEf>2010-03-13</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>ABFXTS</wf> MO E Ef
<tmn>6</tmn> EM2= EfO
<tmx>16</tmx> X025 Efa
<reliability>2 & </reliability > ME|E EjO

</data> 52 data Element &f7|

- <data> 62 data Element & 7|
<numEf>6</numEf> 6= O|&
<tmEf>2010-03-14</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REAS</wf> SMOE Ef
<tmn>5</tmn> EM2= EfO
<tmx>12</tmx> A2 Efa
<reliability>2 & </reliability > ME|E EjO

</data> 62 data Element & 7|

- <data> 72 data Element & 7|
<numEf>7</numEf> 742 o8
<tmEf>2010-03-15</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>52| 1 Hl</wf> SN0 Ef1

<tmn>7</tmn> X MeE Eja
<tmx>11</tmx> Xner Eja
<reliability>2 & </reliability > MZ|E Ej

</data> 7% data Element Et7|

</location>

O+ - dM4 25 |7 location Element 7|

- <location>

07 - JASE o5 X9 P @)

<province code="11H10000">Cj 7 « AAS T </province>

NYACO| ME RYYOHT - ZHEBE)

FZHo| EXML




xml 3 E

xml| A

H| 3

<city code="11H10501"> 2= </city>

=
HEFHIL ME XFH(

- <data>

22 data Element € 7|

<numEf>2</numEef>

28= 0=

<tmEf>2010-03-10</tmEf>

yyyy-mm-dd HE Y AIZHE}T

<wf>FREHID H EF= =</wf>

MO Ef

<tmn>-2</tmn>

HX2= B3

<tmx>3</tmx>

ANo2E Efa

<reliability>=&</reliability >

M| Ef

</data>

22 data Element & 7|

- <data> 32! data Element & 7|
<numEf>3</numEf> 32 Ol &
<tmEf>2010-03-11</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REX2</wf> SMOE Ef

<tmn>-5</tmn>

HX2= B3

<tmx>7</tmx> Ane2E Efa
<reliability>2 & </reliability > MEZ|E Ef3
</data> 32 data Element Ef7|
- <data> 42 data Element € 7|
<numEf>4</numEf> 422 o &

<tmEf>2010-03-12</tmEf>

yyyy-mm-dd HE Y AIZFE}T

<wf>REES</wf>

MO Ef

<tmn>-2</tmn>

HX2= B3

<tmx>12</tmx>

ANo2E Efa

<reliability>2 & </reliability >

NEEC =

</data>

42 data Element Ef7|

- <data> 52! data Element & 7|
<numEf>5</numEf> 5= o2
<tmEf>2010-03-13</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REX2</wf> SMOE Ef
<tmn>2</tmn> EM2= EfO
<tmx>14</tmx> X025 Efa

<reliability>2 & </reliability >

MEB|E EfO

FZHo| EXML




xml I E xml M H| 1

</data> 52 data Element Ef7|
- <data> 62 data Element & 7|

<numEf>6</numEf> 6= O&

<tmEf>2010-03-14</tmEf> yyyy-mm-dd H& 2 A|ZtEf

<wf>REAS</wf> SMOE Ef

<tmn>0</tmn> M= EfO

<tmx>12</tmx> A2 Efa

<reliability>2 & </reliability >

M| Ef

</data> 6% data Element Et7|

- <data> 72 data Element & 7|
<numEf>7</numEf> 7% 0|2
<tmEf>2010-03-15</tmEf> yyyy-mm-dd He ! A|ZHEf
<wf>&2|1l H|l</wf> M OjlE Ej

<tmn>5</tmn>

HX2= B3

<tmx>9</tmx>

ANo2E Efa

<reliability>2 & </reliability >

NEEC =

</data>

72 data Element & 7|

</location>

T+ « ZAE L QHx location Element EH7|

- <location>

S0 SN - FHHE SM XY TH A7)

<province code="11H20000">S2 4t - 24t - AAMY T </province>

RO ME RIYFEA - S - FAHE)

[—

<city code="11H20201">S &t</city>

o= PR 0| T2 K| (L

- <data>

22 data Element & 7|

<numEf>2</numEf> 292 o8
<tmEf>2010-03-10</tmEf> yyyy-mm-dd H& Y A|ZHE
<wf>RERD H £= =</wf> MO E Ef

<tmn>0</tmn>

HX2= B3

<tmx>4</tmx>

ANo2E Efa

<reliability>=&</reliability >

M| EfO

</data> 292 data Element & 7|
- <data> 32l data Element € 7|
<numEf>3</numEf> 382 Ol&

<tmEf>2010-03-11</tmEf>

yyyy-mm-dd HE Y AIZHE}T

FZHo| EXML




xml 3 E

xml| A

H| 3

<wf>RAEXS</wf>

MO Ef

<tmn>-1</tmn>

HX2= B3

<tmx>9</tmx> XOLE Eja
<reliability>2 & </reliability > AMZ|E Ej

</data> 3¢l data Element & 7|

- <data> 42 data Element € 7|
<numEf>4</numEf> 49 O &
<tmEf>2010-03-12</tmEf> yyyy-mm-dd He A|ZHEf D
<wf>REXI</wf> MO E Ef1
<tmn>4</tmn> X MeE Eja
<tmx>15</tmx> Xnex Eja

<reliability>2 & </reliability >

NEEC =

</data> 42 data Element Ef7|

- <data> 52! data Element € 7|
<numEf>5</numEf> 5= o2
<tmEf>2010-03-13</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REX2</wf> SMOE Ef
<tmn>8</tmn> EM2= EfO
<tmx>16</tmx> A2 Efa

<reliability>2 & </reliability >

M| Ef

</data> 52 data Element Ef7|
- <data> 62 data Element & 7|
<numEf>6</numEf> 6= O|&

<tmEf>2010-03-14</tmEf>

yyyy-mm-dd HE 2 A[ZHE}T

<wf>REES</wf>

MO Ef

<tmn>6</tmn>

HX2= B3

<tmx>13</tmx>

ANo2E Efa

<reliability>2 & </reliability >

M| EfO

</data> 62 data Element & 7|
- <data> 72 data Element € 7|
<numEf>7</numEf> 7% 0|2

<tmEf>2010-03-15</tmEf>

yyyy-mm-dd HE Y AIZHE}T

FZHo| EXML




xml 3 E

xml| A

H| 3

<wf>&2|1 Hl</wf>

MO Ef

<tmn>8</tmn> A ME Efja
<tmx>11</tmx> Xnex Eja
<reliability>2 & </reliability > AMZ|E Ej

</data> 72 data Element & 7|

</location> HAF. 4. AAY E HAL [ocation Element EH7|

- <location> FA. 24 FYEHE 4 XY FFEH SO
<province code="11H20000">2 At - 24t - MY E </province> [X|YDE0f| 2 K| AT EA - SAF . ZALD)
<city code="11H20101">2 &< /city> OE IO 2 X|9H(E4AD

- <data>

22 data Element & 7|

<numEf>2</numEef>

28= 0=

<tmEf>2010-03-10</tmEf>

yyyy-mm-dd HE 2 AIZHE}T

<wf>REHID H F= =</wf>

MO Ef

<tmn>0</tmn>

HX2= B3

<tmx>4</tmx>

ANo2E Efa

<reliability>=&</reliability >

NEEC =

</data> 22l data Element EtH7|

- <data> 32! data Element € 7|
<numEf>3</numEf> 328 Ol&2
<tmEf>2010-03-11</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REBX2</wf> SMOE Ef

<tmn>-3</tmn>

HX2= B3

<tmx>8</tmx> X025 Efa
<reliability>2 & </reliability > MEZ|E Ef3

</data> 32 data Element E7|

- <data> 42 data Element € 7|
<numEf>4</numEf> 422 o &
<tmEf>2010-03-12</tmEf> yyyy-mm-dd HE Y A|ZtEf
<wf>3FXTS</wf> MO E Ef
<tmn>3</tmn> AX2E Ef
<tmx>15</tmx> X025 Efa

<reliability>2 & </reliability >

MEB|E EfO

FZHo| EXML




xml 2 E xm| A Hl 1

</data> 42 data Element Ef7|

- <data> 52! data Element & 7|
<numEf>5</numEf> 5= 0=
<tmEf>2010-03-13</tmEf> yyyy-mm-dd He A|ZHEf
<wf>REX2</wf> SMOE Ef
<tmn>6</tmn> M= EfO
<tmx>15</tmx> Xner Eja
<reliability>2 & </reliability > AMZ|E Ej

</data> 52l data Element & 7|

- <data> 62 data Element & 7|
<numEf>6</numEf> 6= 02

<tmEf>2010-03-14</tmEf>

yyyy-mm-dd HE 2 AIZHE}T

<wf>REES</wf>

MO Ef

<tmn>5</tmn> X ME Eja
<tmx>13</tmx> Xner Eja
<reliability>2 & </reliability > MZ|E Ej
</data> 6% data Element Et7|
- <data> 72 data Element € 7|
<numEf>7</numEf> 742 o8

<tmEf>2010-03-15</tmEf>

yyyy-mm-dd HE Y AIZFE}T

<wf>&¢2|1 Hl</wf>

MO Ef

<tmn>7</tmn> AX2E Efa
<tmx>10</tmx> X025 Efa
<reliability>2 & </reliability > MEZ|E Ef3
</data> 72 data Element & 7|
</location> BHAF. 4. AAY E 24 [ocation Element EH7|
- <location> FA. 4 FYEE HE XY 795 SO
<province code="11H20000">8AF « 24« AAL T </province> [X|YDE0f| 2 K| AT (EA - SAF . ZALD)
<city code="11H20301">%&¢ </city> OlE LI 0 2 X|AHE L)

- <data>

22 data Element € 7|

<numEf>2</numEef>

28= 0=

<tmEf>2010-03-10</tmEf>

yyyy-mm-dd HE Y AIZHE}T

FZHo| EXML




xml 3 E

xml| A

H| 3

<wf>FREHID H EF= =</wf>

MO Ef

<tmn>-1</tmn>

HX2= B3

<tmx>6</tmx>

ANio2E Efa

<reliability>=&</reliability >

NEEC =

</data> 22 data Element & 7|

- <data> 32! data Element € 7|
<numEf>3</numEf> 382 Ol&
<tmEf>2010-03-11</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REXI</wf> MO E Ef1

<tmn>-2</tmn>

HX2= B3

<tmx>9</tmx>

ANo2E Efa

<reliability>2 & </reliability >

NEEC =

</data> 32 data Element &7|

- <data> 42 data Element € 7|
<numEf>4</numEf> 422 o &
<tmEf>2010-03-12</tmEf> yyyy-mm-dd HE Y A|ZtEf
<wf>ABFXTS</wf> MO E Ef
<tmn>2</tmn> AX2E Efa
<tmx>14</tmx> A2 Efa

<reliability>2 & </reliability >

M| Ef

</data> 42 data Element Ef7|

- <data> 52! data Element & 7|
<numEf>5</numEf> 5= o2
<tmEf>2010-03-13</tmEf> yyyy-mm-dd He A|ZHEf
<wf>REXI</wf> MO E Ef1
<tmn>3</tmn> X MeE Eja
<tmx>14</tmx> XOLE Eja
<reliability>2 & </reliability > MZ|E Ej

</data> 52l data Element 7|

- <data> 62 data Element & 7|
<numMEf>6</numEf> 6= 02

<tmEf>2010-03-14</tmEf>

yyyy-mm-dd HE Y AIZHE}T

FZHo| EXML




xml I E xml M H| 1
<wf>REAS</wf> SMOE Ef
<tmn>4</tmn> EM2= EfO
<tmx>15</tmx> A2 Efa
<reliability> 2 & </reliability> N =l

</data> 6% data Element Et7|

- <data> 72 data Element & 7|
<numEf>7</numEf> 742 o8
<tmEf>2010-03-15</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>52|1 Hl</wf> MO B
<tmn>6</tmn> EM2= EfO
<tmx>10</tmx> X025 Efa
<reliability> 2 & </reliability> N =]

</data> 72 data Element & 7|

</location>

AL 24 AAYE E2 location Element E 7|

- <location>

e e e P e s S B

<province code="11G00000">A| T </province>

ANYZEo mE XNYYRFE)

<city code="11G00201">H|I=</city>

o= R0 T2 XA YHT)

- <data>

22 data Element € 7|

<numEf>2</numEf> 292 o8
<tmEf>2010-03-10</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REUD H F&= E=</wf> MO B
<tmn>1</tmn> EM2= EfO
<tmx>3</tmx> Fo2E: Eja
<reliability> &8 </reliability> ME|E Ej3

</data> 2% data Element Et7|

- <data> 32l data Element & 7|
<numEf>3</numEf> 382 Ol&
<tmEf>2010-03-11</tmEf> yyyy-mm-dd H& 2 A|ZtEf
<wf>REXS</wf> SN0 Ef1
<tmn>2</tmn> EM2= EfO
<tmx>8</tmx> AA2E B

<reliability>2 & </reliability >

MEB|E EfO

FZHo| EXML




xml I E xml M H| 1

</data> 32 data Element Ef7|
- <data> 42 data Element € 7|

<numEf>4</numEef> 49 o2

<tmEf>2010-03-12</tmEf> yyyy-mm-dd H& 2 A|ZtEf

<wf>REX2</wf> SMOE Ef

<tmn>7</tmn> M= EfO

<tmx>16</tmx> A2 Efa

<reliability>2 & </reliability >

M| Ef

</data>

42 data Element Ef7|

- <data>

52! data Element & 7|

<numEf>5</numEf>

gz 0s

<tmEf>2010-03-13</tmEf>

yyyy-mm-dd HE 2 AIZHE}T

<wf>REES</wf>

MO Ef

<tmn>9</tmn> X ME Eja
<tmx>15</tmx> Xner Eja
<reliability>2 & </reliability > MZ|E Ej
</data> 52l data Element 7|
- <data> 62 data Element & 7|
<numEf>6</numEf> 6= O&

<tmEf>2010-03-14</tmEf>

yyyy-mm-dd HE Y AIZFE}T

<wf>S8</wf>

MO Ef

<tmn>10</tmn>

HX2= B3

<tmx>15</tmx>

ANo2E Efa

<reliability>%&</reliability >

NEEC =

</data>

62 data Element & 7|

- <data>

72 data Element & 7|

<numEf>7</numEgf>

9= 0=

<tmEf>2010-03-15</tmEf>

yyyy-mm-dd HE 2 AIZHERT

<wf>&2|1 Hl</wf>

MO Ef

<tmn>9</tmn>

HX2= B3

<tmx>13</tmx>

0Lz Eja

<reliability>2 & </reliability >

MEB|E EfO

FZHo| EXML




xml 3 E

xml| A

H| 3

</data>

72 data Element & 7|

</location>

HFEE AP E location Element EH7|

- <location>

Mz MAHZE XY 796 H 22

<province code="11G00000">A|Fx </province>

X|SiAC 0 UH2 K| Y (HFE)

<city code="11G00401">A A E </city>

0= 7T E0f T2 K| H(N T m)

- <data>

22 data Element € 7|

<numEf>2</numEgf>

28= 0=

<tmEf>2010-03-10</tmEf>

yyyy-mm-dd HE Y AIZFE}T

<wf>REHID H EF= =</wf>

MO Ef

<tmn>2</tmn>

HX2= B3

<tmx>6</tmx>

ANo2E Efa

<reliability>=&</reliability >

NEEC =

</data> 22 data Element & 7|

- <data> 32l data Element € 7|
<numEf>3</numEf> 38l O &
<tmEf>2010-03-11</tmEf> yyyy-mm-dd HE Y A|ZtEf
<wf>ABFXTS</wf> MO E Ef
<tmn>2</tmn> AX2E Efa
<tmx>10</tmx> A2 Efa

<reliability>2 & </reliability >

M| Ef

</data> 3¢l data Element & 7|

- <data> 42 data Element € 7|
<numEf>4</numEf> 49 O &
<tmEf>2010-03-12</tmEf> yyyy-mm-dd & A|ZHE
<wf>REXI</wf> MO E Ef1
<tmn>7</tmn> X MeE Eja
<tmx>15</tmx> Xner Eja

<reliability>2 & </reliability >

M| EfO

</data> 42 data Element EH7|
- <data> 52! data Element € 7|
<numEf>5</numEf> 5= o2

<tmEf>2010-03-13</tmEf>

yyyy-mm-dd HE Y AIZHE}T

FZHo| EXML




xml 3 E

xml| A

H| 3

<wf>REES</wf>

MO Ef

<tmn>10</tmn> A ME Efja
<tmx>15</tmx> Xnex Eja
<reliability>H& & </reliability > AMZ|E Ej
</data> 52l data Element 7|
- <data> 62 data Element & 7|
<numEf>6</numEf> 6= O|&

<tmEf>2010-03-14</tmEf>

yyyy-mm-dd HE Y AIZFE}T

<wf>S8</wf>

MO Ef

<tmn>12</tmn>

HX2= B3

<tmx>16</tmx>

ANo2E Efa

<reliability>%&</reliability >

NEEC =

</data>

6% data Element Et7|

- <data>

72 data Element & 7|

<numEf>7</numEgf>

2= 0=

<tmEf>2010-03-15</tmEf>

yyyy-mm-dd HE 2 AIZHERT

<wf>&2|1 Hl</wf>

MO Ef

<tmn>11</tmn>

HX2= B3

<tmx>15</tmx>

ANo2E Efa

<reliability>2 & </reliability >

M| Ef

</data>

72 data Element & 7|

</location>

HFEE AP E location Element EH7|

</body>

body Element Et7|

</wid>

wid Element Et7|

\J

FOl| 2 XML

-
.




